~
-
'
[a)
N
N
o
(=3
N

H2fcy 4t

KO

1,157

1,157

O
]

F7hxI%

KO

K-

<r
K+

|

KO

30,430

30,430

K-

<r
K-

31,587

31,587

4

Hejoyl ot

Hio
<0

b

2. op%

100 +

50 7

8.00%

5.33%

267%

0.00%

-2.67%

-5.33%

2

-50

-100

-150

~
ofl
prd

93

3. A|lL}E2| 280

~
ofl
et

2,568

4. Z| &4 2N (VaR : 99%, 10Y)

oh
]

.

E3AER}



~
-
'
[a)
N
N
o
(=3
N

H2fcy 4t

KO

-6,586

6,586

O
]

F7hxI%

KO

K-

<r
K+

|

KO

10,667

10,667

K-

<r
K-

4,081

6,586

10,667

4

Hejoyl ot

Hio
<0

b

2. op%

400

200

8.00%

5.33%

267%

0.00%

-2.67%

-5.33%

2

-200

-400

-600

~
ofl
prd

524

3. A|lL}E2| 280

~
ofl
et

833

4. Z| &4 2N (VaR : 99%, 10Y)

oh
]

.

E3AER}



~
-
'
[a)
N
N
o
(=3
N

H2fcy 4t

KO

5,096

353

5,449

K-

<r
K-

KO

O
=

|

KO

-192

192

O
]

/I5#

4,904

545

5,449

4

Hejoyl ot

Hio
<0

b

2. op%

15
10

8.00%

5.33%

2.67%

0.00%

-2.67%

-5.33%

-8%

-10

-15 4

-20

~
ofl
pr

15

3. A|lL}E2| 280

~
ofl
et

326

4. Z| &4 2N (VaR : 99%, 10Y)

oh
]

.

E3AER}



